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 משוואות  טריגונומטריות
· פתירת  משוואות  בעזרת  פרוק  לגורמים.
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משוואות

1. sin4x – cos4x = 0.5  
 (sin2x + ______)(______ - ______) = 0.5
_________ - cos2x = 0.5
-_______ = 0.5        (        _______ = -_____                                                                         2x = ( _____ + _______          (      x = (______ + _______ 
2. sin4x – cos4x = cos2x  
 (sin2x + ______)(______ - ______) = cos2x
_________ - cos2x = cos2x
-_______ = _______        (        2_______ = ____                                                                         2x =  _____ + _______          (      x = ______ + _______ 
3. sin4x – cos4x = sin2x  
 (sin2x + ______)(______ - ______) = sin2x
_________ - cos2x = sin2x
-_______ = _______        לו  cos2x = 0,  גם  _______ = ___  והרי  לא  קיים  x  המקיים  ___ = ______ = _____,  לכן   _______ ( __  וניתן  לחלק  ב ______.    (
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       (     _______ = -____        ( 
 2x = _____ + _______     (    x = _____ + ______

· תשובות:  1.  (600 + 1800k    2.  450 + 900k    3.  67.50 + 900k









































































































עבודה  נעימה








cos2x - _____ = cos2x
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a2 – b2 = (___ + ___)(___ - ___)�
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